

$(x^v)' = v \cdot x^{v-1}$. Für $f(x) = x^v$, $x \in \mathbb{R}$. $v \geq 1$, $x' = 1$, $c' = 0$

Für jedes $x_0 \in \mathbb{R}$. Zunächst $\lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} = \lim_{x \rightarrow x_0} \frac{x^v - x_0^v}{x - x_0} =$

$= \lim_{x \rightarrow x_0} \frac{(x - x_0) \cdot (x^{v-1} + x^{v-2} \cdot x_0 + x^{v-3} \cdot x_0^2 + \dots + x_0^{v-1})}{x - x_0} = \underbrace{x_0^{v-1} + x_0^{v-1} + x_0^{v-1} + \dots + x_0^{v-1}}_{v \cdot x_0^{v-1}}$

$f'(x_0) = v \cdot x_0^{v-1}$ $(\sqrt{x})' = \frac{1}{2\sqrt{x}}$, $x \in (0, +\infty)$

Für $f(x) = \sqrt{x}$. Für $x_0 \in (0, +\infty)$.

$\lim_{x \rightarrow x_0} \frac{\sqrt{x} - \sqrt{x_0}}{x - x_0} = \lim_{x \rightarrow x_0} \frac{\sqrt{x} - \sqrt{x_0}}{\sqrt{x}^2 - \sqrt{x_0}^2} = \lim_{x \rightarrow x_0} \frac{\sqrt{x} - \sqrt{x_0}}{(\sqrt{x} - \sqrt{x_0})(\sqrt{x} + \sqrt{x_0})} = \frac{1}{2\sqrt{x_0}}$

$\left(\frac{f}{g}\right)' = \frac{f'g - fg'}{g^2}$

$\left(\frac{1}{x}\right)' = -\frac{1}{x^2}$ $f(x) = \frac{1}{x}$, $x_0 \in \mathbb{R}^x$

$\lim_{x \rightarrow x_0} \frac{\frac{1}{x} - \frac{1}{x_0}}{x - x_0} = \lim_{x \rightarrow x_0} \frac{\frac{x_0 - x}{x \cdot x_0}}{\frac{x - x_0}{1}} = \lim_{x \rightarrow x_0} \frac{-(x - x_0) \cdot \frac{1}{x \cdot x_0}}{x - x_0} = -\frac{1}{x_0^2}$

$(\ln x)' = \frac{1}{x}$ $(\exp x)' = \exp x$ $(\sin x)' = \cos x$ $(\cos x)' = -\sin x$ $(\varphi x)' = -\frac{1}{\cos^2 x}$ $(\cot x)' = -\frac{1}{\sin^2 x}$

$$f(x) = \begin{cases} x^2 + x + a^2, & x < 0 \\ x^3 + ax + 1, & x \geq 0 \end{cases}$$

Teorema f continua in $x_0 = 0 \rightarrow \lim_{x \rightarrow 0^-} f(x) = \lim_{x \rightarrow 0^+} f(x) = f(0) \Leftrightarrow a^2 = 1 \Leftrightarrow a = \pm 1$

Per la via Gevdi ndp/nn $x_0 = 0 \Leftrightarrow$

$$\lim_{x \rightarrow 0^-} \frac{(x^2 + x + a^2) - 1}{x} = \lim_{x \rightarrow 0^+} \frac{x^3 + ax + 1 - 1}{x} \quad (*)$$

$$\lim_{x \rightarrow 0^-} \frac{x^2 + x + a^2 - 1}{x} = \lim_{x \rightarrow 0^+} \frac{x^3 + ax}{x} \quad (**)$$

$$\lim_{x \rightarrow 0^-} \frac{2x + 1}{1} = \lim_{x \rightarrow 0^+} \frac{3x^2 + a}{1} \quad (***) \quad \boxed{1 = a}$$